018-188 - Maple River Bank Stabilization Project - Enderlin - 2021

Status Report Details

Funding Opportunity:	7583-Outdoor Heritage Fund May 2021 - Round 18
Program Area:	Outdoor Heritage Fund
Status:	Submitted
Status Report Number:	001
Status Report Type:	Final Report
Reporting Period:	05/01/2021 - 01/31/2022
Initial Submit Date:	Sep 27, 2022 2:06 PM
Initial Submit Date: Initially Submitted By:	Sep 27, 2022 2:06 PM Tracy Ekeren
Initially Submitted By:	
Initially Submitted By: Last Submit Date:	

Contact Information

Primary Contact Information

Type: External User Name: Salutation Tracy Middle Name Ekeren First Name Last Name Title: Enderlin Advocate Email*: enderlinadvocate@msn.com Address*: 221 3rd Ave. Phone*: Enderlin North Dakota 58027 City State/Province Postal Code/Zip Phone*: The main from the mathematicate of the mathemathmematicate of the mathematicate of the mathematicate of the mat	Active User*:	Yes
First Name Last Name Title: Enderlin Advocate Ennal*: enderlinadvocate@msn.com Address*: 221 3rd Ave. Phone*: Enderlin North Dakota 58027 City Phone*: 701-733-2679 Ext. Phone ####################################	Туре:	External User
Email*: endefinadvocate@nsn.com Address*: 21 3rd Ave. Phone*: Enderlin North Dakota 58027 City State/Province Postal Code/Zip 701-793-2679 Ext. Phone Phone "####################################	Name:	•
Address*: 221 3rd Ave. Address*: 221 3rd Ave. Phone*: Enderlin North Dakota 58027 City State/Province Postal Code/Zip Phone*: 701-793-2679 Ext. Phone ### ##### Fax: ### ###### Comments: ### #################################	Title:	Enderlin Advocate
Enderlin North Dakota 58027 City State/Province Postal Code/Zip 701-793-2679 Ext. Phone* 701-793-2679 Ext. Phone ####################################	Email*:	enderlinadvocate@msn.com
City State/Province Postal Code/Zip Phone*: 701-793-2679 Ext. Phone ####################################	Address*:	221 3rd Ave.
City State/Province Postal Code/Zip Phone*: 701-793-2679 Ext. Phone ####################################		
City State/Province Postal Code/Zip Phone*: 701-793-2679 Ext. Phone ####################################		
Phone Phone ####################################		
Fax: ####################################	Phone*:	
Comments: Organization Information Status*: Approved		
Organization Information Status*: Approved	Fax:	####_#####
Status*: Approved	Comments:	
Status*: Approved		
	Organization Information	
Name*: Enderlin Park Board	Status*:	Approved
	Name*:	Enderlin Park Board
Organization Type*: Municipal Government	Organization Type*:	Municipal Government
Tax Id: 456002067	Tax Id:	456002067
Organization Website:	Organization Website:	

	Enderlin North Dakota 58027
	City State/Province Postal Code/Zip
Phone*:	701-437-3476 Ext. #### ######
Fax:	##########
Benefactor:	
Vendor ID:	
PeopleSoft Supplier ID:	
Comments:	
Location Code:	
SAM.gov Entity ID:	
SAM.gov Name:	
SAM.gov Entity ID Expiration Date:	
State Issued ID:	
Category #:	
Year Begin:	
Year Closed:	
NCES#:	
Restricted Indirect Cost Rate:	0.0%
Unrestricted Indirect Cost Rate:	0.0%
Document Approval	

Lev	<i>v</i> el	Approved By	Approved Date	Approval	Comments

Final Report

OHF Final Report

Goal of Project*:

Our goal for this project was to keep our river bank from eroding away.

Work Accomplished*:

The project reduced erosion to the river bank which has saved our Park.

Project Results*:

We have saved the river bank in our Park which is used by many.

Value to North Dakota*:

It has reduced erosion and provided a gathering place for the Community and those traveling through our community. Additionally, any Bicyclest traveling the State Highway 46, may use the park as a resting point.

Certification

This report was prepared pursuant to an agreement with the Industrial Commission of North Dakota, which partially funded the project through the Outdoor Heritage Fund. Project participants, its subcontractors, and the Industrial Commission of North Dakota, or any person acting on its behalf, do not:

(A) Make any warranty or representation, express or implied, with respect to the accuracy, completeness, or usefulness of the information contained in this report, or that the use of any information, apparatus, method, or process disclosed in this report may not infringe privately-owned rights; or (B) Assume any liabilities with respect to the use of, or for damages resulting from the use of, any information, apparatus, method or process disclosed in this report.

Reference herein to any specific commercial product, process, or service by trade name, trademark, manufacturer, or otherwise, does not necessarily constitute or imply its endorsement, recommendation, or favoring by the Industrial Commission of North Dakota. The views and opinions of authors expressed herein do not necessarily state or reflect those of the Industrial Commission of North Dakota.

Do you agree?*:

Photos

Yes

Description	File Name	Туре	Size	Upload Date
These are the final documents for this project.	Park Project Final 2022.zip	zip	1 MB	09/27/2022 01:21 PM
Here is 1 picture that was taken today as the originals from the date of completion were accidently deleted.	IMG_0175.jpg	jpg	227 KB	09/27/2022 01:59 PM
Here is the second picture from today. This is the whole area that was done which goes all the way to the Highway 46 bridge.	IMG_01771.jpg	jpg	197 KB	09/27/2022 02:03 PM







Maple River Bank Stabilization Project No. 2020-01 Enderlin Park Board Enderlin, North Dakota Project No. 21071 ENGINEER'S STATEMENT OF ESTIMATED COST

				ESTIMATED		
BID IT	EM NO.	& DESCRIPTION	UNIT	QUANTITY	BID UNIT PRICE	BID PRICE
BASE	BID					
1.	-	Mobilization	L.S.	1	\$14,000.00	\$14,000.00
2.	-	Channel Bank Grading	L.F.	540	\$29.50	\$15,930.00
3.	-	Riprap - Class III	C.Y.	880	\$84.00	\$73,920.00
4.	-	Riprap - Filter Fabric	S.Y.	1,325	\$6.00	\$7,950.00
5.	-	Gravel - NDDOT Class 13	CY	30	\$40.00	\$1,200.00
6.	-	Seeding - Type I	L.S.	1	\$8,400.00	\$8,400.00
7.	-	Floating Silt Curtain	L.S.	1	\$9,950.00	\$9,950.00
8.	-	Storm Water Management	L.S.	1	\$7,000.00	\$7,000.00
					Total Bid	\$138,350.00
					Engineering - Design	\$18,000.00
				Engir	eering - Construction	\$37,000.00
					Contingencies	\$71,650.00
				ТО	TAL PROJECT COST	\$265,000.00

<u>Funding</u>	
SWC	\$132,500.00
Park Board	\$132,500.00
Total	\$265,000.00



BID TABULATION				D.L. Barkie Construction, Inc. 3830 Willow Road West Fargo, ND 58078		Comstock Construction, Inc. (Wahpeton)		Key Contracting, Inc.		
Maple River Bank Stabilization Project No. 2020-01 Enderlin Park Board			280 S. 11t			h St	245 7th Ave NE			
			Wahpeton, N			0 58075	West Fargo, ND 58078			
	-	Dakota								
	No. 210									
Bid Dat	e: April	1, 2021								
BID ITE	M NO. 8	DESCRIPTION	UNIT	ESTIMATED QUANTITY	BID UNIT PRICE	BID PRICE	BID UNIT PRICE	BID PRICE	BID UNIT PRICE	BID PRICE
BASE B	SID									
1.	-	Mobilization	L.S.	1	\$14,000.00	\$14,000.00	\$19,624.75	\$19,624.75	\$6,000.00	\$6,000.00
2.	-	Channel Bank Grading	L.F.	540	\$29.50	\$15,930.00	\$46.40	\$25,056.00	\$38.00	\$20,520.00
3.	-	Riprap - Class III	C.Y.	880	\$84.00	\$73,920.00	\$78.40	\$68,992.00	\$115.50	\$101,640.00
4.	-	Riprap - Filter Fabric	S.Y.	1,325	\$6.00	\$7,950.00	\$2.85	\$3,776.25	\$2.00	\$2,650.00
5.	-	Gravel - NDDOT Class 13	CY	30	\$40.00	\$1,200.00	\$190.00	\$5,700.00	\$50.00	\$1,500.00
6.	-	Seeding - Type I	L.S.	1	\$8,400.00	\$8,400.00	\$6,532.00	\$6,532.00	\$3,000.00	\$3,000.00
7.	-	Floating Silt Curtain	L.S.	1	\$9,950.00	\$9,950.00	\$10,176.00	\$10,176.00	\$9,000.00	\$9,000.00
8.	-	Storm Water Management	L.S.	1	\$7,000.00	\$7,000.00	\$4,543.00	\$4,543.00	\$500.00	\$500.00
				TOTAL		\$138,350.00		\$144,400.00		\$144,810.00

,

Page 1